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(1) siwasg efamss@phd sflurs &0 uard o arens GTGOTLIEMENT
gflunisgé Qsmearerayd. Sé&IUS D Geonullmulder Hons
samsresiiiiurerfiLib o L angwrs Cgflellésalb.

2 Bob oz smUY @wvleer LLEGCDL TWHMSHELD
<13 6CHTg HeugsnEGh LweL(HSS Cauam(hib. LILREE almfasnE
Quendléd LweLI(HESe] L.

Qipleyeor :

(1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

Instructions :

Gy : @delamgsrer B, Aflejsmars Clamamg).

Note : This question paper contains four sections.

Slfley - 1I/SECTION - I
(wélGluemser : 15)/(Marks : 15)

@udfede 2 arer 15 ellemasEh&E@L oflen_wieflésa. 15x1=15
() Qsr@ssuul(erer mrem@ wrHn e seller Waeyw sfwrar
oL emws Coirlsmss SN OLar e Wmanyn Carsg
ET(LPS@|LD.
Note : (i)  Answer all the 15 questions.

(i) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.
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f)=x2+5 erafled, f(—4)=

(<=1) 26 (<) 21 (&) 20 (] —20
]ff(.\'):.l‘z +5, then f(—4)=
(a) 26 (b) 21 () 20 (d) -20

@ sl (H% Qe euflevsufen HHSSHES (P 2 MILILSET k +2, 4k—6, 3k —2
eramfley, k - gl :

(=24) 2 (=)3 (&) 4 (FF) 5
If k + 2, 4k - 6, 3k — 2 are the three consecutive terms of an A.P., then the value of k is :
@) 2 (b) 3 (c) 4 (d) 5

@m Qumses Asrireuflensulear s BreanE e nuiyseier QUBSEHLLET
256, @iger Qg Afsd 4 DHMD DB WD e mliy Wens e erafle,
ABSL GlLIRGGS Glemi euflenguliler 3 eug e miuy :

1 .
(-o1) & (=) 175 ® 3 () 16

If the product of the first four consecutive terms of a G.P. is 256 and if the common
ratio is 4 and the first term is positive, then its 3™ term is :

1
(@) & ® © == @ 16

22 N +7 aenuens x+4 e au@seh Cung das@h B4

(-21) 28 (<) 29 (@) 30 () 31
The remainder when x2—2x +7 is divided by x+4 is :
(a) 28 (b 29 fc} 30 (d) 31

¥ by+c=0 nomib ¥2+bxr—a=0 Hwu swearur@sailear Qurgeurear ppeib

c+a c—a C‘*‘b fl'l'l
() 57 (=) (8) = () 2(‘)

The common root of the equations v2—bx+c=0and ¥*+br—a=0is :

cta e=a c+b . at+b
S ®) €9 "m W
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Ll = 0 .
A=\.1 ’SJLDDQM A+B=( 5 _4J erafled, oemfl B=

i 6 2 -8 -2 8 2
e {0 1] () (3 ~1} (&) [ 1 ‘7J s [”1 7}
It A= K z] and A +B = (_; _2], then the matrix B=

1 0) 6 2 =8 =2 [ 8 2
o (0 D e (P W[}

(=2, 6), (4, 8) flu yereNaenar &) en e @ LD CrrCar’uheEé Olgm @ssmen
ChisGar e smiie, :

(<=t) % (<=)3 (&) —3 (7) ~=

Slope of the straight line which is perpendicular to the straight line joining the points
(=2 6) and (4, 8) is equal to :

@ 5 ® 3 © -3 @ -3

(2,3), (4, 6), (a, a) 2w yarallaer Gy CrGaTiige adlamar erafd, a -an
w&liy :

(=) —8 (=) 4 (&) -4 () 8
If the points (2, 5), (4, 6) and (a, a) are collinear, then the value of ‘a’ is equal to :
(@) =8 (b) 4 & =4 (d 8

Qm augbarss asGsrammselarn sHmeTasar wWanGu 24 Gs.i5, 18 Q.18
Teng. pso WPECsransden @@ UEED 8 Q&8 eraflw, wHGlmmm
p&Garamslan SFD@ &5 USSD :

(=) 4 Cg.B (<=4) 3 Q&8 (®) 9 Qs..8 (rF) 6 Q&8

The perimeters of two similar triangles are 24 cm and 18 cm respectively. If one side of
the first triangle is 8 cm, then the corresponding side of the other triangle is :

(a) 4cm (b)) 3 cm (€) 9cm (d) 6cm
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10.
CD =
(=1) 24 Q.18 (<=4) 16 Q&S
then CD is :
(@) 24 cm (b) 16 cm

12.

11.

4

QemGaranr AABC-60 ZB=90° wpmitb BDLAC. BD=8 Q&.15, AD=4 Q&.18 erafle,

(@) 32 Qg.8

() 8 Qs

AABC is a right angled triangle where ZB=90° and BDLAC. If BD=8 cm, AD=4 cm,

UL S&léd LABC =

C

> 100/3 8

b

T e

(<=1) 45° (<) 30°
In the adjoining figure ZABC=

C

> 1003 m

100 m ‘B

(a) 45° (b) 30°

9 tan26 — 9 sec?d =

(1) 1 (<4)0
9 tan20 — 9 sec?h =
(@) 1 (b) 0

() 32cm

(8) 60°

d) 8cm

(/) 50°

(d) 50°
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13. 100 w 5.Q5.8 euenerLiriiy QareirL Gamrersdlen <yrb :

14.

15.

(1) 25 Gls.18 (<=1) 100 Qg..5 (@) 5 Qs..8 (/) 10 Q&.18

If the surface area of a sphere is 100 7 cm?2, then its radius is equal to :

(@) 25cm (b) 100 cm () 5cm (d) 10 cm

ouymseflar AsrEiy geamdar &I L eladan 23 . S @ieTer geubeumm
EUILD 3 e QLmEss Hanl_s@ LB efleurs QmEider L eesstd ;

(=) V12 (<) 42 (&) 6v2 (F) 92

Standard deviation of a collection of a data is 2J2.

If each value is multiplied by 3,
then the standard deviation of the new data is :

() iz (b) 43 © 6v2 @ ov2

52 & Qser GararL o & 0és 4 mbs em &G T(H&ELCEUTE =i
R LsenL (ace) 316 QOOTOGID WHMID @ @rrerairs (king) @ebevmiogyLd
Qmuugnsrear flepssey

(@) = (=) T3 8 = (™

A card is drawn from a pack of 52 cards at random. The probability of getting neither
an ace nor a king card is :

11 4 8
@ = b i 5 @ =

[ miuys / Turn over
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9fey - I1/SECTION - 11

(wélLQuanTaar : 20) / (Marks : 20)

@Iy : ()  Ldg elamss@rsE eflenL wefldseL. 10x2=20

(i) elemm erer 30 -&@ 6wt LILNG  ellen L well&se . wWwsHe
14 dilanmésefler Qmibs aCaeayb 9 alamssmans Caiay Caiiweayb.

Note : ()  Answer 10 questions.

16.

17,

18.

()  Question number 30 is compulsory. Select any 9 questions from the first
14 questions.

A=1{1,2,3,4,5}, B={3,4,5,6}, C=1{5,6, 7, 8 eraflled, Au(BUC)=(AUB)UC eTes
sTL_(H&.

Given, A={1, 2, 3, 4, 5}, B={3, 4, 5, 6} and C=(5, 6, 7, 8}, show that
AUBUC)=(AUB)UC.

FCp Qar(hssiul L L eumeant pagl, A=1{5, 6, 8, 10} -afi(mibg B=1{19, 15, 9, 11}

-&@ f(x)=2x—1 erenmeuny SepHs Gn &y erafld, a wHmD b s dluwieumblesr
WHUILSHEETE SIS,

EREEERERE
IEREIENE

The following table represents a function from A={5, 6, 8, 10} to B={19, 15, 9, 11}
where f(x)=2x—1. Find the values of a and b.

x 5 6 | 8 | 10
Fe)| a | 11| b | 19

. ;, m, — ;(m + 2) B dlwer e LLme@s er i euflenswlicr o _ererer erafle,

m -1 WEHULSDETS STEHTs.

T — 3, m, — Z(m + 2) are in G.P,, find the values of m.
7 2



19.

20.

21,

22,

23.

24.

25,

7 6823

bé&sd peperwll LweTu@®sE Srés : 13x+11y=70, 11x+13y="74.
Solve by elimination method : 13x + 11y =70, 11x + 13y ="74.

i 632 + 9x
& & —5——
L e

6x% + 9y
Simplify : —————

PRI 952 12
a;=2i—j ererp e glriysmearsd QararrL, euflens 2x2 o 6rem el A= [ay]
-Wienar siemL&ESHELD.

Construct a 2x 2 matrix A= [aij] whose elements are given by a; =2i—j.

crafler, C=2A+B erenim yanllepwis sreams.

o

. 21 R
T e 4 RS g
8
4

(3 2) ~1
Let A =£ U[ and B = [ J. Find the matrix C, if C=2A +B.
e

(=3, 5 wpmb (4, -9) Kdw Yeraflsemer QmansEh Carl(Hé & @myamen
2 LUpwrs 1: 6 erann efldlggdler GMN&@L yetafllfar oidas Ogremelsamends
SIS .

Find the coordinates of the point which divides the line segment joining (—3, 5) and
(4, —9) in the ratio 1 : 6 internally.

“lal -an T Wans LHLULSEREGW, (0, a) T LeTeN&aT x-oy&dled
SiMHE(HEGD erenn Spilen GWSSETEOMW oy rmiis.
“The points (0, a), a > 0 lie on x-axis for all a”. Justify the truthness of the statement.

A, B eravuier APQR-e7 ussmiseT PQ, PR-gaflar God SDIDBS LeTefEaT 6Tans.
Gugib AB|IQR, AB =3 G&..5, PB =2 @&.18 whmid PR = 6 Q&8 erefled, QR-air

Berslenensd &reirs.
In APQR, AB||QR. If ABis 3 cm, PBis 2 cm and PR is 6 ¢m, then find the length of QR.

[ $lmLiys / Turn over
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26.

27

28.

29,

30.

em Caryrsdlen gl mbs) 30V3 8 Qgrenavelledr Hi@d g(m LMTeneUWITeTHT,
osCsryrsdear e sflleoar 30° gHms Caransdad sramdpT.
syl LsHO®mbE AuGB®LW HoLflaol urimed Camligbh@ 2-6rer
gy 1.5 B erafled, Camyrsdlen o wrsemss srans.

The angle of elevation of the top of a tower as seen by an observer is 30°. The observer

is at a distance of 30+/3 m from the tower. If the eye level of the observer is 1.5 m above
the ground level, then find the height of the tower.

em SHamo Chieul L o maerler Qurgs LpULTLL 1540 Q182 iger
o WIS SHqLES Wrsms CUTED BHIaEIE WLkE erafld, 2 (Heeruilen
2 WTSENSSE &TEH0TS.

The total surface area of a solid right circular cylinder is 1540 cm?. If the height is four
times the radius of the base, then find the height of the cylinder.

o Uetefl efleursdlen WBaflm wHly 12. sean eS&& 59 erafled, LIyeTer
Seursdlen WBLGLIE wdlmus STas.

The smallest value of a collection of data is 12 and the range is 59. Find the largest
value of the collection of data.

S Syren BravTib @ran® e sariUUBE D).
Ensarand HasflaEpssrean Blaspssalmars SaTs.

i) Qmsme S sse (i) e LWwLHL oL Hse
In tossing a fair coin twice, find the probability of getting :

(i) Two heads (i) Exactly one tail

(<21) e Hawws Cerarsdlen sar siemey 7241; 5.05.8. crafled, o D rEmHE

; [ 22\ "
SIS, | ™= ?)’ GTE01.

\
SI60605)
(<zp,) x=a secl+b tand LODYLD y =a tand +b sech erafled, x— y>=a2— b erem Himyeys.

; . 1 f
(a) Ifthevolumeofa solid sphere is 7241 - cu. cm, then find its radius. | Take 7 = EJ
7

L

OR
(b) If x=a sech+b tand and y=a tanf +b sech, then prove that x2— y2 =a2-b2
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9fley - 111/SECTION - II1
(wdluQuemaer : 45) / (Marks : 45)

ePoy: @) e aupueasalie aCsemib 9 ellaésersE ellowefésah. Ix5=45

(i) efleanr erewr 45 -G SewIGLUTSE ofewellGsad. WPSHD
14 cilamsseflallmibg 8 elaméssmens Caiey Qeiiweyb.

Note : ()  Answer 9 questions.

31.

32,

.

34.

(i) Question number 45 is compulsory. Select any 8 questions from the
14 questions.
A=la b, ¢ de, f, g% 1,2}, B={1,2.¢ d, ¢ womib C={d, e, f, g, 2, y} eTens.
A\(BUC) =(A\B) " (A\C) ererueng FfluméseLb.
Let A={a,b,c,d, e f g x v, 2,B={1,2c deand C={d, e f, g 2 ).
Verify A\(BuC)=(A\B)n(A\Q).

A=1{6,9,15,18,21}; B={1,2,4,5,6} wpyd f: A - B eraiug f(x) = x3—3 e

ueTWmISSIUL g MUAeT Friy £ -ew

(i) SbUSGH uLLD

(i) euflenss Camgseaflan sewrid

(i) L Leuememr

(iv) eueruL b Ydlweundler pped @Mésa.

Let A=16,9,15,18, 21}; B={1, 2, 4,5, 6} and f: A — B be defined by f(x) = % = .

Represent fby :

(i) an arrow diagram
(ii) a set of ordered pairs
(i) a table

(iv) a graph

12-22+3 - +... v Ggmflen wpged 2n 2 miiyseflen sn@aer srems.
Find the sum of the first 2n terms of the series 12—22432_ 42

7+77+777 +.... r@d Ggmflar 1pged n e pliysaller sm@Bsd srams,
Find the sum of first n terms of the series 7+ 77+ 777 + ...

[ HmLiys / Turn over
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35.

36.

37.

38.

39,

40.

<siesauny Bile em GupdriuLder Caisbd waflée 15 .18, erans. SiLLE,
BGrm_Lgdlen Slensudler 30 4.8, gy Csenm. Gp@ ardlis Hevsuder Hmind
4 wanfl 30 bl rsefler Bar@o ypuul QLsdbe Hmba apsrd Bl
Ceusgdlenans smaums.

The speed of a boat in still water is 15 km/hr. It goes 30 km upstream and return
downstream to the original point in 4 hrs. 30 minutes. Find the speed of the stream.

1631 =24 + (a—1)x? + (b +1)x +49 6TETLIF @ (PP UTEHD cTafle, a WwHmLD b
< Slweunblen wHiLsmaTd &Tas.

Find the values of a and b if 16x* —24x% + (@a—1)x>+(b+1)x+49 is a perfect square.

5 2\‘

3 i ) Tl s
A = L7 3| \ eraflev, (AB)T=BTAT erenuens sflurigsey.

g 1)

/

LOMOID B = |r

(5 2) (2 -1) "
fA=|, . andB= | verify that (AB)! =BTAT,

\ 74 N 1 J

(=4, —2), (=3, =5), 3, =2) wpmib (2, 3) HFw yeraflsemer erearsarTas
QarenTL BErh&rsSHen LUTLMmUS &Taus.

Find the area of the quadrilateral formed by the points (-4, —2), (=3, =5} (8. =2)
and (2, 3). ’

Ysraren GCanmsams er(pd Hemssayi.

State and prove Pythagoras theorem.

R S L sEen GLDGi:) 20 Qa?rrtq_e'sasLbULb BHémsg. serudegerer R
yerefllalmbs GaTgssbUsSia 2 58 wHmb Sy odweunbler TODE
Garamrmuser wpenpGuw 60° wHMID 45° erans. Gaib QsTgd SuUSHer o WD
10 8 erafled, sLLL SHle0 e Wrsmss srems. (3 = 1.732)

A flag post stands on the top of a building. From a point on the ground, the angles of
elevation of the top and bottom of the flag post are 60° and 45° respectively, If the

height of the flag post is 10 m, find the height of the building. (V3 =1.732)



41.

42.

43.

44.

45,

11

20 Cpfaiis smblar QaLssarisfa @oUDWDL Smbps @il L
clleflibyseflen spperaiser wapCu 44 Q.8 wOMId 8.4 7 Q&5 erens. e
2 wrd 14 Q&S erefle, ocuelenl & SETL_SHIE ST |GTENEUS HTEHTE:.

The perimeter of the ends of a frustum of a cone are 44 cm and 8.4 7 cm. If the depth
is 14 cm, then find its volume.

&e§ Caeues augeu 2 Garss s iquilen Bemb, Siseoibd wHmbD 2 wrb WenpGu
44 Glg.16, 21 Q&8 wpPID 12 Qs.8. GeuaCarss sy wirang 2 mHEsILLH G
Haiod gburs LIPPLILGEDE. smbGer 2 wFD 24 Q&8 erafle, g
DlgLusssSen el L Hen oieme| HTEHTS.

The length, breadth and height of a solid metallic cuboid are 44 cm, 21 cm and 12 cm

respectively. It is melted and a solid cone is made out of it. If the height of the cone is
24 cm, then find the diameter of its base.

18, 20, 15, 12, 25 erenim efleunmius@né@ wrpur’ (Hé Capeneud Sreas.
Find the coefficient of variation of the following data.
18, 20, 15, 12, 25

Q@@ usmL Qmupen 2 BLLUUBEng. pwesomasts o Gl iuGnGung
@@ @rie dumL aam SoLssd owg Seuel@m o (HlLdla wps
cramsatlen ga(hse 8 28 QHSHe erayd HlapsHluler Hapssalmeans sreams.

If a die is rolled twice, find the probability of getting an even number in the first time or
a total of 8.

(o) 3xt+6x>—12x2 - 24x LPmbd 4x*+14x>+8x° -8y Y Awu vLYMLIYE
Gareneuseien B5.ClLIT.6u sremms.
3|6V6VG)
(<) @m CpraCar@ wpw SFss@ar A LPMIL B wdw yeraflsafie
Qaul_pdermg. AB -anr pHLLETaR (3, 2) erafled, AB -ar gweLT L&
&ITEHTS.

(a) Find the GCD of the following polynomials 3x%+6x3—12x2-24x and
4x* +14x3 + 8x2—8x.
OR

(b) A straight line cuts the coordinate axes at A and B. If the mid point of AB s (3, 2),
then find the equation of AB.

[ S mlys / Tum
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Yfley - IV/SECTION - IV
(LHUQuamser : 20) / (Marks : 20)

&Py : @b damaigin o drer Grem® wipy camsseidmbs o
olemmamais CoibAs0ss Bm NemasEhsEnL ol Lassan.  2x10=20

Note : Answer both the questions choosing either of the alternative.

6. (=1) 6 G&.5 yrapeter @ LD auanrhg &6 éﬁ)mmgﬁeﬂ@{b@] 10 G&.15

Qereaefigiarer @@ Lereflenwis GSs, Uyerefludel mpa
L sSNG CsTRCaTHs6r auamymhg DB HeTEIGaeT Henréd (.
9{60608)

(<=1,) AB=6 Gl&..5, ZABC=70°, BC=5 Qg.18 Hmid ZACD=30° gdlw ojere ser
Qe euL_L BIO&TL ABCD euenys.

(a) Draw the two tangents from a point which is 10 cm away from the centre of a
circle-of radius 6 cm. Also, measure the lengths of the tangents.

OR

(b)  Construct a cyclic quadrilateral ABCD, given AB=6 cm, ZABC=70°, BC=5 cm
and ZACD =30°,

47. (=) euedruLLd ppeold Tés : 2x2+x—6=0.
S|V60g) ‘
() xy=20, x, y > 0 TETUSE UMTULLD aUMTS. SFDETL LweTLBES x=>5
eresfled, y-er  Wwlliepuwb, y=10 erafed, x-en wElliemuyb srars.
(a) Solve graphically 2x2+x—6=0.
OR

(b) Draw the graph of xy=20, x, y > 0. Use the graph to find y when x=5, and to
find x when y=10.

-00o0-



